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Note I|II('3‘
A function f defined by fix) = ax + b, where @ and b are constants, is a linear
function.
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O Use each table of values to determine whether f(x) could represent a linear function, If f
could be lingar, write a formula for fin the form f(x) = ax + b.
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The formula f{x) = ax + b may be interpreted as follows,
fix) = gx R b
(MNew amount) = (Change) + (Fixed amount)
When x represents time, change equals (rate of change) X (time).
flx) = i X x + b

(Future amount) = (Rate of change) = (Time) + (Imtal amount)

@ Modeling car sales
Table 8.9 shows numbers of Tovota vehicles sold in the United States. (Refer to the intro-
duction to this chapter.)
TAELE 8.9 Toyota Vehicles Sold (millions)
Year 1998 1999 2000 2001 2002
Vehicles 14 15 L6 17 18

Source; Autodata

(a) What were the sales in 19987

(b) What was the annual increase in sales?

(c) Find a linear function f that models these data. Let x = 0 correspond to [998, x = 1 to
1999, and so0 on,

(d) Use fto predict sales in 2004,
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@ Identifying polynomial functions

Determine whether f(x) represents a polynomial function. If possible, idenufy the type of
polynomial function and its degree.
(@ flx) =57 =x+ 10 (b) flx) =x* + 1

(€) flx) =1— 2x (d) fix) =

E 2
@ C—fﬂf’l’\ ;C&) =X — X +7)<"<D~ on ﬂqulfvifﬂ calc.
4 cyabaate F(2) 6, F(-1)

@ Evaluate f(x) at the given value of x. ﬂ
(@) flx)=-2"-2 x=2 () flx)=-2" -4’45 x=-3



